Calculate the ratio of the cross sections of X pairs production by CG coefficient




Decay mode of X,

X.(2455) Decay Modes
Al is the only strong decay allowed to a X having this mass.

Scale Factor/ PiMeV/c)
Mode Fraction (T; /T Conf. Level

Iy A ~ 100% 94



Why the sideband can’t describe the signal region?
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Comparison on the AM distribution between data and MC
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Comparison between data and MC
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Comparison between data and MC
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Comparison between data and MC
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Comparison between data and MC
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Comparison between data and MC

Events/(4 MeV/c?)

N
o

20

10

E Vs=4.915 GeV

e Data

L MC_2595a
- I MC_2595b
__ MC_2625a
[ Mc_zsz?
- e*e'aE; .
o P
[ Abkg

C I qabkg

26 027 028 0.29

.

0.3 031 032 033 034 035 0.36
2
M,.. (GeV/c?)

- Vs=4.946 GeV
[ == Data

L MC_2595a
- [ MC_2595b
L MC_2625a
- I MC_2625b
C Acbkg

— I 4T

T TT | TTTT | T TT
=
——

26 027 028 0.29

03 031 032 033 034 035 0.36
2
M,.. (GeV/c?)

After considering the contribution of
2.2 pairs

w
a

N w
[42] (=)

Events/(4 MeV/c?)

Events/(4 MeV/c?)

20

10

Before

&26 027 028 029 03 031 032 033 034 035 0.36

60

B [6)]
o o

w
o

C Vs=4.915 GeV
[ =f= Data

C MC_2595a
= [ MC_2595b
- MC_2625a
C I MC_2625b
ol Acbkg
- I qT-bkg

o
IIII|IIII|IIII|II

M. (GeV/c?)

C Vs=4.946 GeV
[ —4= Data

~ MC_2595a
T [ MC_2595b
— MC_2625a
C I MC_2625b
C A-bkg
I qT

HHJr Jr

EP.ZG 027 028 029 03 0.31 032 033 034 035 0.36
2
M,.. (GeV/c?)



Events

Events

60
50
40
30

20

50

40

30

20

g

f
i

_|_
_|_
e My

_h

_\
4 241 242 243 244 245 245 247 248 249 25

M(AIT) (GeV/c?)

ﬁ%

_|_

++ + -I-‘|'.|.

4 241 242 243 2.44 245 2.46 247 248 249 25
M(AIT) (GeV/c?)

Events

Events

AM > —0.1,+/s = 4.915 GeV

50

40

30

20

r-hll'-hll

il v barralivral
QA 241 242 243 244

245 246 247 248 249 2.
2
Mrecoil(A;n+) (GGV/C)

50—
40
30—

20—

105—|_ _|_+

el
g4 241 242 243 244

N- .
245 246 247 248 249 25
M oilAeT) (GeV/c?)



h_mSigC
) = Entries 577
< r Mean 2.462
<l>J 80— Std Dev  0.01745
L C
50—
40 + + -\- +
30f '|' _|_+
20(— _|_ _I_-I' +
10— _I_
7|\|||||||-\|-||\||||\|||\\|||\||||\||||\|||\||||\
Q_4 241 242 243 244 245 246 247 248 249 25
M(AIn*) (GeV/c?)
h_mSigCo
) » Entries 577
E - Mean 2.461
G>J 60__ Std Dev  0.01658
L L
50— +
40— _|_ + +
30— _|_ -|'-|—
20(— _|_ -|— +
10 -|'
:\\IIIIIHlllllllllllll\|||||||\‘|||\||||\III\\
8,4 241 242 243 244 245 246 247 248 249 25
M(AIT) (GeV/c?)

AM > —0.1,+/s

4946

Events

Events

h_mrecSigC

60

50

40

30

20

10F

L
=,

Entries
Mean

577
2.451

Std Dev  0.02169

n

60

50

40

30

20

10

:plllll_ll_\lllll‘I\l\llllllllll‘lll

l\)_

n—
rof
~
BE
Pl
Pl
&E
Pl
£F
roC
Pl
AC
rolC
Pl
&F
rol
e
BE

1
M

recoil(

+

l\)_

—

JrJrJr

H ++ }

iy

i

1

B 249 25

(GeV/c?)
h_mrecSigCo
Entries 577
Mean 2.454
Std Dev  0.02226

4t

1
24 241 242 243 244 245 246

1 | 1
2.47
M

recoil(

+
AT

2
)

48
(

24
GeV/c?

9

2.
)

5




o) - A C
c = T 45
e - e -
- 40
LLl = LLl -
= 35
35— -
30F- OE ‘- +
o JF 25t
20F- '|' 20
15/ _|__|_ 15E
10E- -I-'I' 10F- _|_ ‘I‘
°E 4+ T °E + '|‘+
_|||||||| |||||||||||||||||||||||||||||||'"I‘|| _|||||||'|'|'|'I'|'|'|"|||||||||||||||||||||||"|'I'|||||||
9.4 2.41 42 243 A4 245 246 247 248 249 25 9.4 241 242 243 244 245 246 247 248 249 25
2 . 2
M ool Act) (GeV/co) M i(AeT) (GeV/co)

AM > —0.02,+/s = 4.915 GeV



igCo
297
2.463

h_mrecSi

Entries
Mean

297
2.46

0.01601

igC

h_mrecSi

Entries

Std Dev  0.01648

+

Mean
Std Dev

Hy,

) (GeV/c?)

T

+
C

!
iy
.|.

243 244 245 246 247 248 249 25

_H_

AT

4 241 242

|_|
——
1
|—|
|—|
Ll
|_|

|.wrl-hTh‘...|‘...m...\....\....\...‘l...‘

4 241 242 243 244 245 246 247 248 249 25

9

297
2.459

gC

Entries

h_mSi
Mean

_|_

Std Dev  0.01557

+t

uw (= wn [=] Te] o wn o wn (= 3]
e = (o8] [sp] [8Y} o - —
SjuaA]
P~ ooy
@ W T
T

o 2

o

>
@ ]
2ca —+
S w©
c o232
w=n

) (GeV/c?)

+
C

I

M(A,

i
BT,
_|_

4 241 242 243 244 245 246 247 248 249 25

9

1

_|_
e

242 243 244 245 246 247 248 249 25

I 11
4 241

n o wu o 50 5 0 w
= = [So I ] oo — —

SJuaAg

m) (GeV/c?)

+
c

MI'ECOH(A

) (GeV/c?)

+
C

AM > —0.02,+/s = 4.946 GeV

M(A,

%



	幻灯片编号 1
	幻灯片编号 2
	幻灯片编号 3
	幻灯片编号 4
	幻灯片编号 5
	幻灯片编号 6
	幻灯片编号 7
	幻灯片编号 8
	幻灯片编号 9
	幻灯片编号 10
	幻灯片编号 11
	幻灯片编号 12
	幻灯片编号 13

